

I put a study guide with practice tests on the website. Test 1 is March 17

Tupic 5 - First order exact equations Suppose you have a first order equation of the form: $M(x,y) + N(x,y) \cdot y' = 0$ expressions with x and y $Z \times Y + (X^{2} - I) Y' =$ M(x,y) N(x,y)

also that there Suppose a function f(x,y) exists where $\frac{\partial f}{\partial x} = M(x,y)$ and $\frac{\partial f}{\partial y} = N(x,y)$ $E_{X:} \quad \sum_{X \neq y} + (x^2 - 1) y = 0$ $M(x, y) \quad M(x, y)$ $f(x,y) = x^2y - y$ Let Then, $\frac{\partial f}{\partial x} = 2xy + 0 = 2xy = M(x,y)$ $\frac{\partial f}{\partial y} = \chi^2 - I = N(\chi, y)$

Suppose $\frac{\partial f}{\partial x} = M(x,y)$, $\frac{\partial f}{\partial y} = N(x,y)$. Then, $M(x,y) + N(x,y) \cdot y' = 0$ becomes $\frac{\partial f}{\partial x} + \frac{\partial f}{\partial y} \cdot \frac{\partial y}{\partial x} = 0$ Math 2130 f(x,y) is a function of x and y y = y(x) is a function of xchain rule: $\frac{df}{dx} = \frac{\partial f}{\partial x} \cdot \frac{d}{dx}(x) + \frac{\partial f}{\partial y} \cdot \frac{d}{dx}(y)$ $= \frac{\partial f}{\partial x}(1) + \frac{\partial f}{\partial y} \frac{dy}{dx}$ $= \frac{\partial f}{\partial x} + \frac{\partial f}{\partial y} \frac{\partial y}{\partial x}$

Hence,
$$\frac{\partial f}{\partial x} + \frac{\partial f}{\partial y} \cdot \frac{dy}{dx} = 0$$

becomes $\frac{df}{dx} = 0$
So, for example the family of
curves given by $f(x,y)=c$
where c is a constant will
satisfy $\frac{df}{dx} = 0$.

Summary: If
$$\frac{\partial f}{\partial x} = M(x,y)$$
 and
 $\frac{\partial f}{\partial y} = N(x,y)$, then the equation
 $f(x,y) = c$ where c is any
 $constant$ will give an implicit
solution to
 $M(x,y) + N(x,y) \cdot y' = 0$

If such an f exists then We say that $M(x,y) + N(x,y) \cdot y' = 0$ is an exact equation

EX: Consider $2xy + (x^{2}-1)y' = 0$ M(x,y) N(x,y) Let $f(x,y) = x^{z}y - y$ We have $\frac{\partial f}{\partial x} = Z \times y = M(x,y)$ $\frac{\partial f}{\partial y} = x^2 - 1 = N(x, y)$

Thus, $x^2y - y = c \leftarrow f(x,y) = c$ Where c is any Constant is an implicit Solution to $2xy+(x^2-1)y'=0$

Check #1 Suppose xy-y=c Differentiate both sides with respect to x to get: 2xy + xy - y =original dy dy So, $+(x^{2}-1)y'=0^{2}$ $2 \times y$

Check #2/ We can actually solve for y in our solution xy-y=c. We get $y - x^2 - 1$ Let's check if it solves the equation. We have $y = c \left(\chi^2 - 1 \right)^{-1}$ $y' = -c(x^{2}-1)^{-2}.(2x)$ -ZCX $(\chi^2 - 1)^2$ Plug this into the ODE to get $Z \times y + (\chi - 1) y'$

 $= 2 \chi \left(\frac{c}{\chi^2 - 1} \right) + \left(\chi^2 - 1 \right) \left(\frac{-2 c \chi}{(\chi^2 - 1)^2} \right)$ $\frac{Z \times C}{\chi^2 - 1} + \frac{-Z C \times X}{\chi^2 - 1}$ solves $y = \frac{c}{x^2 - 1}$ Thus, $2xy + (x^{2} - 1)y' =$ 0

such an f exist? When does Theorem Let M(x,y) and N(x,y) be continuous and have Continuous first partial derivatives in some rectangle R d IIIII defined by acxcb and c<x<d. Then, M(x,y) + N(x,y)y' = 0will be exact if and only if Here a,b,c,d Can be ± po $\frac{\partial M}{\partial y} = \frac{\partial X}{\partial X}$

<u>Proof:</u> See notes if interested.

Ex: Consider the previous $2xy + (x^{2}-1)y' = 0$ M(x,y) N(x,y) equation

naue M(x,y) = 2xy, there are Continuous everywhereWe have

 $\frac{\partial N}{\partial x} = 2 \times \begin{cases} \text{these} \\ \text{are} \\ \text{continuous} \\ \text{everywhere} \end{cases}$ And $\frac{\partial M}{\partial x} = Zy$ $\frac{\partial M}{\partial y} = 2X$ Ris R the entire xy-plane

And, $\frac{\partial M}{\partial y} = 2 \times \epsilon \qquad \text{Equal} \, \frac{1}{2}$ $\frac{\partial N}{\partial x} = 2 \times \epsilon$ Thus, $Z \times y + (\chi^2 - 1)y = 0$ is exact, that is there exists f(x,y) where $\frac{\partial f}{\partial x} = M(x,y)$ and $\frac{\partial f}{\partial y} = N(x,y)$